
2223

(o.) ar*He qr rtn ir ort€ d tETqil t wq frfuqr

(re) ffi yfrsnff s{ + frq &-{-n q( + 6c t arege

* qrs ilq sDq-oqfiur d ffi an *fr t?

Consider the Cobb-Douglas production function
y : f(X, x2) = xtttzx2tt2. Assume the input prices

are W, = I and W, : 2. Here X, is the input I and

X, is input 2. Assume the input 2 quantity is fixed in
the short run at Xro: 9. Assume the output price is
p=2.

Find fixed cost FC, the variable cost function VC(y),

the average variable cost function AV C(y), and the

short-run total cost function Cs(y). (4+4+3+4)

qYs-gIIFr{ si{rfi s-tr{ y: f(xP xr) : xrr'2x2r/2 rR BqR

dBsr qFr fifrs fr F{Se {€ wr : I *t wr:2 tr
q6r xr E{ge r I *{ x, E-dge 2 tr qr<flftrS fr s@Isfu )
t r<gr z fr rret xr': = 9 q( ffRr( 6 zrd tsr cr< fl&s
frursegelup-z*r

frk{ fl-rrfl FC ard dfrq, cR{+frq arrrd r6'd-ir VC(y),

da-d cRrdflq imtr siFr AV c(y), *<' reroA 6q
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EreI t Rafrir
1 E( y$r- w[ + ffi a uw nq qq rquftr rcFr c{ strir

qmrmftfre r

z. cFEi+i qFr*, ildd qmt6' flk qr{ta I

3 qmatffi qnydi skqFlsi ftditysirr*ctr
flRs r

a. istrF-v*qrwrt atfr qrfffr ffi qq, qrsr+A&q, th-{
mft B-fit q,r crqc vo fr rtqr qrBs r

PARr A (qm a)

(a) What happens to the budget line if the price of
' good 2 increases. but the price of good I and

income remain constant. (5)

(b) Originally the consumer faces the budget line

PrXr - P2X. = M. Here P, is the price of goodl. I

P" is the price of good 2 , M is the income, X, is

the quantity of good I and X, is the quantity of
good 2. Then the price of good I double, the price

of good 2 becomes 8 times larger, income becomes

4 times larger. Write down an equation for the

new budget line in terms of the original prices and

. income. (5)

(a) Show that if u, + P < l, the production function
has the property of decreasing returns to scale.

(b) Show that if o + F = t, the production function is

constant returns to scale-

(c) Show that if a + P > l, the production function is
increasing returns to scale. (5+5+5)

yflffqEr tfirFr y = f(x,, x) : x," xrF, tIt E-qR dfrqr il6r

o .rh p <ar<rac- fu<r+ *r qr< dfrs fr r<ge 1u w,

*tt *, $r ri'( x, Ergc t t *< x, E{ge 2 At E{r ydtrE;r

s-tr{ d qiq-srms vsrer+ qa-+ qr} *r

(o,) w tfi ft.fr cr + p < I t, d ver<+ q-o-c I
ftr{ * r+d vt Td 6r gw *cr fi

(u) w <rfv frqE o + p: I *, dserr<rmr;rtnr
*a ct Erd frrf *a ir

(zr) w <fi ft' qF cr + g , t *, * lrer<r r[iFr ?fir

dq q{ <air Eil ftcd *cr *r

(a) What is an Isoquant? Explain with the help of a

diagram. (7 )

(b) What is the condition for profit maximization with
output as the choice variable for the competitive

firm? (8)
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(s) u(x, Xr) = (X, +x2)ri2 + gqAFrdI s-tr{ Ero ft(
r+n d st{dr* d s$tqr urar *? aq I d crn

* fts x, *< sq e d crdr + frs x, ir ucAFrdI

rFFm v(xr Xr) = 13X, + l3x, + cft i Hr ftn?

(q) qR ffi 3cqtffr qr sq&Frar q-c< U(X, Xi) =

x,xr4 *r va x, tq r S qrlr * ftv *t x, vq

2 d cr*t * frs tr sR qri srq 6I ft-dql Btsr

stl 2 cr s{ qtrtr

(n) riq qr sfs? qA cr{ s-d{ xr : -P, *,i qffi{
qm V-r< X, : -llP, il X, <q I fr qrar * RS

' *. P, qq1 r d*rd+ftsir qRt-s*,*6RUr

e-dEs *( qR qcq t, * qr<q r<rEsr

PARr B (qm q)

Consider the production function y: (x,, xr) = x,u xrp,

where cr and p are positive constants. Assume the

input prices are w, and wr. Here x, is the input 1 and

x, is input 2. This production function is called a Cobb'

Douglas production function.
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(c) lf a consumer's net demands are (5. 3) and her

endowment is (4,4), what are her gross demands?

(5)

(o) qq-c tsr qt wr cqrs *dI t qE eq e 6 *qa c?

drfr +, AB-{ <q r fr ffrn *t lnq fr{r {rfr *r

(q) W rc i sc*-fir sffa tet Prxr + P2x2 : M rFT

qrfir r61i[ *r di e, qq r d frT{ l, P, sq 2

d *Td l, Na srq t, x, <q I dqrar * u}< x,
sq 2 d cnr *r fr sq r d fr{d +gft'* ilft
t, sq z d frrd o g-,r c€ vrs i, src 4 5iI c-a

ur& *r aa fff Rs qrc * iE$ q{ qsc ksl *
frs q6'(frq"flI ftfust

(.r) qR F fr sq+nr * V< {m (s,-s) * *{ s{d
<-M (a,a) e, tt 3(d q6-d di flr *?

2. (a) What is Satiation point or a Bliss point. (7)

(b) What is a Utility function. What do you mean by

positive monotonic transforpation of given utility

function, explain with example. (8)
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(re) uvdh-n sd{ wrr *<r *r frs rrs 3cdFmr s-fl{ *
w6RrFr.6 ++AAq' cffiT + orq wr qrst *,
vemur qFr sq d&sr

(a) What are the properties of an indiff'erence curve?

(5)

(b) What is the shape of an indifference curve when
two goods are (i) Perfect substitute (ii) perfect

complements. Explain with the help of diagram.

(5+s)

(q,) s-6 Eqrft{dr 16'* g"r ar *t *

(re) co, rqEqm qm,16r fi6n Hr #dr * ue <) <q{
(i) $ yRivrc-{ (ti) gi 5mr stc t qn{ir +
wq dfrqr

What is the optimal choice for a consumer in the case

of

(i) Perfect su bstitutes

(ii) Perfect complements

(iii) Bads.

Explain with the help of diagram. (5+5+5)

frrrfrRt + ame + 3cqffir + frq Eem Rc-e wr *

(i) {'t cRtqrr{

(iD [d T.{,

(iii) +q{

frtq d vercrcr t qq dfrqr

(a) What kind of preferences are represented by a

utility function of the form U(X. Xr) : (X., + X)t/2?

X, for quantity of good I and X, for quantity of
good 2. What atrout the utility function V(X, Xr)

= 13Xr + l3xr? (5)

(b) If a consumer has a utility function U(X, X2) :
X,Xra. Heie X, for quantity of good I and X, for
quantity of good 2. What fraction of her income

will she spend on good 2. (5)

(c) True or false? If the demand function is X, = -P,,
then the inverse demand function is X, = l/Pl.
X, for quantity of good I and P, for price of good

l. If true then why and if false then why.

(5)
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